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No. of Questions : 150
W1 it W& : 150

Time : 2 Hours Full Marks : 450
9T ; 2 902 quTiE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3

01.

02.

{Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

ATEITs T B BF F T NI F) TAF 997 3 () 3% F R
Qe TeTA IAT & 1670 Uek 3iah wTeT ST T STaiia ued &
YTl I B

{2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one,

Ife TFE dFfcts S T8 SR % e Wik &, @ Fread g8 SW

Which one of the following is a natural antioxidant?
(1) Citric acid {2) Acetic acid
(3) Ascorbic acid (4) Sorbic acid

fretfafian & @ B TH MHfas 9fd Aerie ¢

(1) Efes 3 (2) THifcH 1A
(3) UTHIEE 377 (4) wiEE oA

Most widely use and controversial flavor enhancer is :
(1) Monosodium propionate (2) Sodium propionate

(3) Sodium benzoate (4) Monosodium glutamate

3 P.T.O.
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03.

04.

05.

06.

TEIY T faengrose ey a9 €
(1) wrEfeam wrEne (2) Wfgam DN
(3) wifem s=iee (4) HHrfedT TEmE

The total soluble solids content in jams and jellies is :

W4 SR Serm B g SorAsiia 3 S A El |
(1} 65 -68% (2) 75-78%
(3) 55-58% (4) 60 -70%

The substance responsible {or jelly making in fruits is :

(1} Protein (2) Phytin

(3) Pectin (4) Carotene
welt i Suferg el I F oy SoRer verd

(1) W (2) WEfeA

(3) uRRA (@) e

Foods are spoiled by the action of :

(1) Micro - organisms {2) Enzymes

(3) Insects (4) All of the above

i verd At st R % SR eE W §

(1) g8 — &g (2) TR

(3) ®R (4) IoYE wl

Continuous method of pasteurization has advantage over batch
method as it is more :

(1) Time saving (2) Energy saving
(3) Both of the above (4) None of the above



07.

08.

09.

10P/244/2

IR @t iR fafy S fafy & st @ 9w w8 € i

(1) 999 99d HA TE0 (2) Sl g

(3) IwE® S (4) STIF E 9 B T
FPO certification is given to :

(1) Fruits and vegetables (2) Only fruits

(3) Only vegetables (4) All agriculture produce
Thodlosile A fr=fefias = far S 2

(1) & SR Sl (2) waw B

(3) hael Gfesal (4) @ HY I

The agents responsible for flavor are :

(1) Esters (2) Aldehvdes

{3} Ketones (4) All of the above
Ty ¥ o soemh o frefafad €

(1) Twd (2) UesEEew

(3) M (4) Iugw a4

HTST process of pasteurization involves heating at :

(1) 63°C for 30°C minutes (2) 72°C for 15° seconds
(3) 93°C for 3°C seconds (4) 150°C for 1° seconds
ﬁg{léﬁ?ﬁ =] '@oaowoﬁo i ¥ gfiafaq % | fefafag w
(1} 63° Boo, 30° iR (2) 72° Follo, 15 ThUg
(3) 93° HoWo, 3 HHUE (4) 150° HWodo, 1 HHTE

S P.T.O,
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10. Saffron can be used as :

11.

12.

13.

(1) Flavoring agent (2) Coloring agent
(3) Both of the above {4) None of the above
S Frefefan & & w90 ) 1 gl €

(1) YGIFusHRE & &9 A (2) T FRE & &Y H
(3) IHE I (4) SUYF F 9 B
Benzonic avid is not very much effective against :

{1) Yeast (2} Mould

(3) Bacteria (4) All of the above
e a1l Prefafiad & fAg o T8 @

(1) 9 (2) S

(3) SR (4) ST R
Which one is not a natural foed color ?

{1) Caramel (2) Annato

(3) Saffron (4) Tartazine
frfafas § 9 S Wi @ T T R?

(1) Fufad (2) TR

3) FW (4) TRIEA
Following is a example of bacteriostatic method :

(1) Canning (2) Drying

(3) Sterilization (4} Irradiation
fFreafefad stamoe fofe =1 T Seme @

(1) M (2) @

(3) WIS (4) RiEAH



14.

15.

16.

17.

18.

10P/244/2

Thremophiles may grow at temperature :

el Frfafad a9 R ofg #a €
(1) 45-75°C (2) 30-40°C
(3) 10-20°C (4) 75-100°C

The slimy layer on food is due to :
(1) Bacteria (2) Mould

(3) Yeast (4) Fungi

T R faufad wag Frafated & SR 8§
(1) s 2) T
(3) W= (4) HIF

The "Essential Commodities Act" was enacted in the year :

“wiifvrae FEIfed R faafafad od § g9 § o
(1) 1954 (2) 1955
{3) 1956 (4) 1963

Red palm oil is a source of :

(1) Ascorbic acid (2) Riboflavin

(3) P-carotene (4) Calciferol

are 1 9o Frafafad w1 & 2

(1) T=HIfeF 3/ (2) TEEIFAfE

(3) SE-FA (4) et

Give a scientific term for ‘cracking at the angles of the mouth'.
{1) Glossistis (2) Angular stomatitis

(3) Dermatitis (4) Pellagra

7 P.T.O.
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19,

20.

21.

“UE % S F e F AU TT Al e @

(1) TeiaEed (2) UeR RHenied
(3) THerfeH (4) Yamm
Megaloblastic anemia is caused due to the deficiency of :
(1) Iron (2) Protein

(3) Folic acid (4) Ascorbic acid
TiAsAE® T Frafaies = w90 & Fro & ¢

(1) e = (2) WA

(3) WhIferh 3T (4) UEHIfe® 7

A snack containing 10g protein, 14g carbohydrate and 9g fat will
provide how many kilocalories?

(1) 177 (2) 132
(3) 227 (4) 297

T AIva =eH, T 10 9™ SIEH 14 UM wEEESe SR o wH e €, @
| BT

(1) 177 Tl Somd (2) 132 foal Sl

(3) 227 fFeh Fard (4) 297 foHct Fard

The main function of vitamin X in the body is :

(1) As a antioxidant (2) In the blood clotting
(3) Invision (4) In synthesis of protein

TR A fefn F s g e 2
(1) Wit — Todfiee & 9§ (2) T 9 H
3) TEH (4) WA dveiwor ¥



22.

23.

24.

10P/244/2

The sulphur - containing amino acids are :
(1} Leucine, isoleucine, metheionine

(2) Lysine, methionine, cystime

(3) Cysteine, methionine, cystine

(4) Methionline, tryptophan, cystine
FEH IeF Tl oA ®

(1) I, AEegE, fafra

(2) <A, fafaaes, faedm

3) fowmm, fufa, fawdia

@) s, fodita, ol

Human milk is a poor source of :

{1) Iron (2) Protein

(3) Vitamin K (4) Vitamin B,
a gy FrefafEa @ afca S @

(1) g e 2) W

(3) forerfi & (4) foofim <,

Kwashiorkor and marasmus are associated with :
(1) Insanitary condition {2) Total undernutrition

(3} Protein - energy malnutrition(4) Vitamin C deficiency

FAEER a9 Bre Frefates @ getea ©
(1) IFosdl H <M 2) Tof f5=1 drm
(3) TRH — Hal FUwwm (4) faafam & =g

P.T.O.
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25.

26,

27,

28.

The term of "IDD" {lodine Deficiency Disorders) was introduced by :

(1) Davis (2) Osborne & Mendel

(3) Hetzel {4) Mulder

soSloTle (M fefrfoa feusmdy) W= frefafEa gr fen T
(1) <fag (2) HEH 9 HUSH

(3) wA (4) =R

The normal blood glucose level in a healthy person is :

{1} 60-90 mg/100ml (2) 70-100mg/100ml

(3} 80-120mg/100ml (4) 120-160mg/100ml

TF Y 547F ¥ T N TEN @ W et e d:
(1) 60-90 fHoTo/ 100 oo (2)  70-100 oo/ 100 fHoTHe
(3) 80-120 fAoWos 100 fAoTRe  (4) 120-160 WoTo/ 100 Fode

The vitamin necessary for the synthesis of visual purple is :

(1) Folic acid (2) Vitamin A
(3} Vitamin K (4) Biotin
forjeTer WU % Gy & forg emevas faefe
(1) ThIfcTR 3T 2) faaf
(3) feerfi & (4) @A

Insulin is useful for :
(1} Reducing the weight (2) Lowering blood cholesterol

(3) Lowering blood glucose level (4} Increase blood glucose level

10



29.

30.

31.

10P/244/2

Tgfom frfafas & fag swm 2
(1) I5F F9 FEH (2) TF RO FH HE H
(3) THF TS T HH F U (4) TH TIHS &R geH H

Fresh fruits and vegetables are included in the diet as :

(1) Body building food (2) Energy giving foods
(3) Protective food - (4) All the above

R ¥ A el 9 Wlesw! w1 Frefoiea &9 3§ wftfoa fhe e
(1) R Fofos s (2) Fo USTRE GRY

(3) W& @™ (4) ITIw wfl

Which of the following foods contain chelesterol?

(1) Spinach (2} Rice

(3) Egg (4) Groundnut
frreafafas @l § | fd SR Sufted g 272

(1) TITh (2) =&

(3) USRI (4) T

Which of these foods items provide empty calories?

{1} Sugar {2) Potato

(3) Milk (4) Wheat

fretfalea w1 @™ ok $ar 3 82

(1) I (2) ST

(3) 39 CONA

11 P.T.O.
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32. Which one of the following is an example of dry-heating methods?

(1) Broiling (2) Blanching
(3) Stewing (4) Poaching
frefafea o & R T=-am iy 1 s 82
(1) sEfem (2) A=
(8) RN (4) e

33. The red colour of tomato is due to the presence of ;
(1) Antocyanin (2) Carotenoids
(3) Lycopene (4) Chlorophyll

TR F A 1 FrefafEs # SutfE % SR A ©
(1) TEHERERE (2) HUfetasy

(3) I (4) FERIEA
34. The maximum amount of starch of wheat kernel is present in :
(1) Bran (2) Endosperm
(3) Aleurone layer (4) Germ
g F T ¥ STIa9 W H U SueYd gt §
(1) 99 (2) TS H
(3) TR R H 4y SHH
35. Full form of F.P.O.is:
(1} Food Products Order (2) Fruit Products Order
(3) Fruit Preservation Order {4) Food Preservation Order

12



36.

37.

38.
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@oq?oaﬁow@m%:
(1) F NSRH A (2) he WSHY e
(3) e Torsteler amER (4) Fs fedEvA e

Maillard reaction results in browning of foods due to :
(1) Interaction between sugars and amino acids

(2) Oxidation of phenclic compounds

(3) Heating of carbohydrate

(4) None of the above

G ¥ WeTe IR % HR @ el R FreffEd & R 9 @
(1) T3 W@ wHH o7l &t aEfiE R

(2) frifas Dl 1 e

(3) FEERSS P AAYF Y R T’H FEAI

(4) STYF H ¥ FRE T

Temperature generally used to store the frozen foods is :
ferfierd @ & WieRoT § 9 AmEE ©

(1) o0°cC (2) -4°C

(3) -15°C (4) -18°C

Which of the following compound is added to the oil to avoid rancid-
ity?

(1) Vitamin A (2} BHT

{3) BHA (4) Vitamin C

13 P.T.O.
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39.

40.

41.

a9 ¥ fagd Taa @ w3 & fon fstafas ¥ @ S8 @ e @

e s 82

(1) faafm g (2) oTHoTlo

(3) ®oT=oTo (4) faafga =t
Candling is a method used to assess the quality of :

(1) Milk (2) Meat

(3) Eggs {4) Fish

Fefan fafy Frfafaa ) (o SR 29 T # S @

(1) 3 (2) WM

(3) TS (4) wSel

Following is not a sensory quality characteristic :

{1} Appearance (2) Colour

(3) Seed weight (4) Flavour

Freafefed & W& o1 1 A T 2

(1) U™ 2y

(3) W R (4) gr4

Snacks like chat and beverage are most suitable for serving in a :
(1) Hospital (2) Old age home

{3} Orphanage (4) College or school canteen
=19 3R U9 S T Frfeteg ¥ e /g S ©

(1) wfmEs (2) FEIH

(3) ST (4) N Al TFA FH

14



42.

43.

44,

45.

10P/244/2

Following is not a cooking equipment :

(1) Food processor (2) Microwave
(3) Modular gas rang (4) Fryer
freAfiRed T SiioR 1 ST TR ¢

(1) FS AIHW (2) WEHEE
(3) WASER ¥4 I 4) TRR

Daily records of transaction relating to receipt and payment of cash
are mentioned in a :

(1) Cash book (2) Purchase book
(3) Sales book 4) Balance sheet
Wi SR P T W W ofrws e Fretaten & o e s 2
(1) U qH (2) T TH

(3) W TH (4) oo e

First step in management is :

(1) Staffing (2) Coordinating
(3} Planning {4) Budgeting
oy B Eel I% €

(1) wifEn (2) WA

(3) fwm (4) o T

Food poisoning is an illness caused by :
(1) Microorganisms (2) Toxins present in food

(3} Certain plants and animals (4} None of the above

15 P.T.O.
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46.

47.

48.

T faurenar FeAfafad & FR0 SOR ST ¢

(1) gewsiang (2)
(3) T UEH 9 UY (4)

Amoebic dysentery is caused by :

Keeping a watch on what is going on at the production, service etc. is

{1) Bacteria (2)
(8) Protozoa (4)
aiifaes e frfafiaa & R B 2
(1) I (2)
(3) RN (4)
called :

(1} Supervising (2)
(3) Guiding . (4)

Wi H Suftq fas
I H | & TE

Virus

Fungi-

qrR{™
hdeh

Directing

Reviewing

W STaieA, Tar anfe # F sgend ©

(1) Frdem (2)
(3) urf 29 (4)

frdvm
LERELIE ]

Following is mot a function of management :

(1) Coordinating (2)

{3) Initiative (4)

16

Controlling

Planning



49.

50.

51.
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frfafaa & yaem w1 e

(1) EHITA (2) o
(3) U (4) Fraem
Following is a natural food :

{1} Sauce (2} Pickle
(3) Wheat flour (4) Apple
frefafan & TekE o €

(1) 9™ (2) =R
(3) 7§ & TR 4) s

Characteristics of food which can be indentified by use of our senses:

(1} Sensory qualities (2) Chemical gualities
(3) Physical qualities (4) Palatability

T F g% dEw f o ST A EN eE Wk ], FEE ©
(1) Hagt 1o (2) THEE

(3) sifaw (4) wEfEEa

The first synthetic dye is :

(1) Acid dye (2) Basic dye

(3) Vat dye (4) Mordant dye

W Gyl 5 R

(1) = =% (2) &R &=

(@) REH (4) TR EF

17 P.T.O.
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52.

83.

54.

55.

Dyes suitable for synthetic fibers :

(1} Direct dyes (2) Vat dyes

(3) Disperse dyes (4) Sulphur dyes
fdfes aq ¥ fay frfefes % 9 €

(1) SER*E &TF (2) & TE

(3) feord G (4) TER &&F

Dye molecules can be :

(1) Anionic (2) Cationic
(3) Disperse (4) All the above
T ) B THA T

(1) TEHs 2] Ferfw

(3) fewqa (4) SUEE g4t

Naptholation process is carried out at temperature :

JveioraT ufpar Fefafad qossd W &1 S @
(1) 65°C (2) 75°C
(3) 85°C (4) 95°C

Which of the following is the anionic dye?

(1) Acid dye (2) Disperse dye
(3) Vat dye {4) Mordant dye
frafafed & #9 wrafs & 22

(1) s &= 2) feurd &iw
(3) AT IF. (4) TR =

18
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56. Dyes used for cotton fabric :

(1} Reactive dye {2} Direct dye
(3) Azoic dye (4) All the above
Tl SIS W TART B Il 9 B
(1) Rufrs T=F (2) BRRFE EF
(3) TSIEH 5 (4) SIE Tt

57. Infant's clothing should be selected primarily on the basis of :
(1) Growth feature (2} Comfort feature
(3} Appearance (4) Safety features
oy & o gea: frefafad snor w3 =fsu
(1) 3 (2) ¥R
(3) 4HE (4) &

58. This refers to the surface quality of a fabric :

(1) Drape (2) Texture

(3) Colour (4} None of the above
frafeafos 92 = 9ag Taf 7= ¢

(1) 38 (2) A

(3) @@ (4) Swd® H | FE T

59. A small, oblong, metal device with teeth which caries the material
along as it is stitched :

{1) Feed dog (2) Bobbing winder
{3) Throat plate (4) Presser foot

19 P.T.O.
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60.

6l.

62.

& BRI, SARHR TAYH g F1 TR0 N Hu2 H e F aog am

QA §, FeAHl ¢
(1) Wwis B (2) e aEet
(3) 9T = (4) IR L=

True biasis a :

(1) Bias cuton 43° (2} Bias cut on 90°

(3) Bias cut on 180° (4) Bias cut on 60°
qrEdfees 9T § T

(1) 45°W FrEt TR aEw (2) 90°W FHE TR I
(3) 180°W &I Tt wEH (4) 60° T wIeI T qEH

Finger in which thimble is worn during hand stitching is :
(1) longest/middle finger (2) Smallest finger
(3) Thumb (4) Index finger

219 &1 Foed ¥ Tog et el oM anelt eipet ©
(1) ToY Tl ST / 7em (2) BRI AT
(3) (4) el e

A relatively short lived fashion :
(1) Classic (2) Fad
(3} Couture (4) Ford

20
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64.

65.
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oS 9 Y G @ e hed @

(1) Fenfaes 2) ®e

(3) FR (4) W

Water based pencils or crayons are called :

(1} Aquarelles {2) Gouache

(3} Graphite (4) Pastels

ot sneia Afee 1 BFaA weer ©

(1) T (2) "

(3) e @) e

Assembly marks are :

(1} Notches (2) Cross marks

(3) Perforations (4) All the above
A T ®©

(1) =™ (2) THIE |

(3) TERYA (4) Sudw O
Standards for a {it are :

(1) Grain, set balance (2) Line colour, texture
(3) Both 1 and 2 (4) None of the above
& 3% (fhe) Fue % foau ums 2

(1) 9, ¥, Ty (2) @I, O, e

(3) UL THI (TH 9 Q) (4) svdw ¥ | P T

21 P.T.O.
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66. Basic bodice block is also known as

67.

68.

69.

(1) Sloper (2) Fitting shell
{3) Master pattern (4) All the above
Iy afew o & Frefafes & s s g

(1) TR (2) TR 9=

(3) AR Y 4) Iogw Teft
Shawl collaris a :

(1) Flat collar (2} Stand collar
(3) Roll collar {4) Combination collar
T FHeR & TH

(1) TeteT BleR (2) WS FleR

3) TA Hew (4) IR FloR
Mximum resiliency is found in :

(1) Silk (2) Polyester

(3) Rayon (4) Wool

Seean dre Frefatas ¥ 26 @

(1) M (2) UieTT&R

(3) ¥ @) oA

Fullness in garment can be achieved by the use of :
(1} Darts (2) Pleats
(3} Tucks (4) All the above

22
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71.

72.
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9ees § Frefefed % 94 § O WS RR S 9T ©

(1) SR (2) whe

(3) TH @) I9gw |l
Mahishwari and Chanderi sarees are from :

(1) Delhi {2) Ahmedabad

{3) Hyadrabad {4) Gwalior

TmRad v == Wit fefafed wE = R -

(1) feceh (2) TRUEER

(3) TR (4) TR

Patola sarees are from :

(1} Bhopal (2) Bhubaneshwar
(3} Gujarat {4) Punjab

e wifed fefafes = &t 2

(1) o9 (2) YA

(3) O (4) U

Angora wool is made from hair of :

(1} Goat (2) Rabbit

(3) Sheep {4) None of the above
3t 3 Prefafad % ordl @ st ©

(1) «&H (2) T

3) 98 @) SHw A A 26 7

23 P.T.O.
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73. Batik printing originated from :

74.

75.

76.

(1} Java (2) Japan

{3) India (4) None of the above
aifes fifén &1 frafafad wom @ 35a g0 -

(1) = (2) WA

(3) 9Ra (4) W § | B3 T
Soap that has equal quantity of fat or oil and alkali is a :
{1) Mild soap (2) All purpose soap
(3) Neutral soap (4) Bar Soap

T, foe gam A § aw o dw ok aR da |, hEen €

(1) |g W& (2) T WA HEd
(3) SERM WEA (4) IR W

Safe ironing temperature for silk is :

(1) 355°F (2) 300°F

(3) 370°F (4) 325°F

M A 3 FA & g il e @

(1) 355°FRRALEL (2) 300° BRASRES

(3) 370° BRASES (4) 325° BRIEREE
Luster of fibers can be reduced through :

(1) Sodium Hydroxide (2) Titanium dioxide
(3) Diphosphate (4) Potassium dichromate

24
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78.

79.
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g i Frefiad gR w5 S g g

(1) Wfem TEgeaRe (2) <rEfrm erenaEe
(3} TEEEHE (4) Wfirm e e
Denier is the term applied to the strength of :

(1) Fiber (2} Yarn

(3) Fabric (4} Cotton

R wg frefafas =t amef g ygr BT © ¢

(1) &g (2) aH

(3) HU (4) A

Example of high density fiber is :

(1) Glass (2) Cotton
(3) Acrylic {4) Nylon
3% Y al) a1 I ¢

(1) ™9 (2) ied
(3) Wehiferdh (4) AR
Dacron-and terylene belong to :

(1} Nylon (2) Aramid
(3) Rayon (4) Polyester
HFA o e Pl @ weafaa 2

(1) g (2) W
(3) WA (4) oifeuRR
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80.

81.

82.

83.

The only fiber which contains sulphur is :

(1) Cotton (2} Jute
(3) Silk (4) Wool
TFAH o (oY 9ot i 2, Frfafed §
(1) led (2) ¥
(3) WM (4) 3

The minimum number of harnesses in a loom is :

TH TN § <[ 9 W g
(1) 1 2) 2
(3) 3 4} 10

Muslin is made up with :
(1) Satin weave (2) Sateen weave

(3) Twill weave (4) Plain weave

Tewe fAefafad % gR1 S S &

(1) wfed g (2) EEH T

(3) fooe g (4) IR

Carbonizing is a chemical finish applied to :

(1} Cotton (2) Wool

{3) Rayon (4) All the above

FHEARNTT Th TEEs doon fafy 2, St s Prafafeas = &1 9idl @ ¢
(1) whied (2) A

(3) W (4) Sw

26



84.

85.

86.

87.

10P/244/2

Kantha work is mainly carried out in :
(1) Andhra Pradesh (2) Bengal
(3) Karnataka (4) Orissa

Frll H FW JEAC: B Q

(1) 3y e H (2) e H

(3) e ° @) IS
Which of the following is not a skirt measurement?
(1] Wrist (2) Waist

(3) Hip (4} Skirt length
frfefad § 9 &F T i T T 2

(1) HeATS (2) HH

(3) e (4) e F TR
The study of the aged and ageing persons is termed as :
{1) Geriatrics (2) Gerontology
{3) Geology (4) Geography

I T IHETS AN F ATAT H HE I R

(1) fefetes (2) forremrsd

(3) fomitsn (4) ot

How long a person actually lives is :

(1) Longevity (2) Ageing

(3) Life span (4) Life expectancy
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88.

89.

90.

F1E AfF aag | fra) ofafy o Sfaa a1 €, Fean 2
(1) < g (2) R
(3) TEE WA (4) <% CEEFH

Chromosomes in autosomes are :

(1) 20 pairs (2) 18 pairs
(3) 23 pairs (4} 22 pairs
sreram H Frefefiad ey IuftE 2 @

(1) 2032 (2) 1838
(3) 23 g (4) 2218

Ovum contains :

{1) X chromosomes (2) Y chromosomes
(3) Both X and Y chromosomes (4} None of the above
aTueTo] A 2 €

(1) T HHEH (2) 9T RIAEM

(3) T 3R 9 A wEEE (4) STF T A wE T

Genetic make of a person is denoted by :

(1) Phenotype (2} Genotype

{3) Genetics (4) None of the above
et =afes w1 srEifas YR frefaiaa & gfea € @

(1) fFtea (2) SHrerda

(3) SHfeEm (4) STH A W FE T
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92.

93.

10P/244/2

AIDS stands for :

(1) Acquired immune defense system

{2) Acquired immune defense syndrome
{3) Acquired immune deficiency syndrome

(4) Assured immune deficiency syndrome

Teg W Ol AR

(1) uFamae = feth faen
(2) TFEEE T fetea fagm
3) e g feftefaad fasgm
(4) THEE A fefwfad=d fagm

Delivery of a baby by surgical removal from uterus is termed as :

{1} Normal delivery (2) Cesarean delivery

(3) Natural child birth (4) Prepared child birth
feneht frgy =1 Nty @ wew fafirem g0 Frevrer 1 T S FEe € ¢
(1) | feefead (2) Towfrm feeiad

(@) wfaw Ry s (4) 9%t 51 firg

Following is a standardized test of infant's mental, motor and behav-
ioral development :

(1) 1Q test (2) Home test

(3) Anthropometry (4) Bayley scale

frafafeaa g &1 aEfas, di’ @ el fae ame o1 0@ S
ey @

(1) o 792w (2) W=

(3) AR (4) I T
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94. Ability to identify a previously encountered stimulus is called :

95.

96.

97.

(1) Retrieval (2) Recognition
{3) Recall (4} Memory
TEA WA fRY T IS I TEErT F A FEed @
(1) fera (2) Refem

(3) feamt 4) HORt

Best parenting style is :

(1} Authoritarian {2} Permissive
(3) Authoritative (4) Neglectful

AT T &1 Fog 3Te51 a0 ©

(1) TRl (2) wWHfas

(3) vaefea 4) Treega
Sexual activity involving a child and an older person is called :
(1) Physical abuse (2) Neglect

(3} Sexual abuse (4) Emotional abuse
T 999 9 92 & &9 B el | iR w2

(1) 9RifRtE gaRr @) Troee

(3) 9 gedaRr (4) e JATRR
Surgical removal of uterus is called :

(1) Mammography (2} Endoscopy

(3) Hysteria (4} Hysterectomy
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98.

99.

10P/244/2

b B o AR b (8 e o o e o
(1) Wi (2) ISR
(3) fe=iRan (4) feRywem

Full form of HRT is :

(1) Hormone root therapy

(2) Hormone replacement therapy
(3) Hormone response therapy

(4) Hormone response test

THo 3o Ho F Yol TR :

(1) WA & R (2) A Regwae adt
(3) THMA oo K@ (4) ®BHEH oy o=
First mendtruation in girl is called :

(1) Menarche (2) Menopause

(3) Maturation (4) Adolescence

& ASH! T TgeT S Td gl © ¢

(1) T (2) T
(3) #=AREA (4) faeirrawen
100. Eating disorder characterized by self starvation is :
(1) Bulimia (2} Anorexia nervosa
(3) Obesity (4) Overweight
TR T faeR fras @i 3 T Froefa qe 2, Feam @
(1) gfatm (2) wARFrEn &
(3) swafeA (4) R A2
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101. World consumer's Right Day falls on :

(1) 15% March (2) 15% June

(3) 26™ October (4) 26*" December
fag smirm foo@ Tem €

(1) 157=E & (2) 15F H

(3) 26 IR H (4) 26 framr

102.The Agmark certification of any product assures the consumer re-
garding :
(1)

Correct selling practices

(2) Correct weight
(3) Correct physical & chemical product
(4) All the above
TR SO SUNIRET @) S # rAfargd o % forn i s g
(1) Gt fasha =aRR
2) W& WK
(3) lifds a TURF €Y | e IR
(4) I9dE Gl
103.1t is a focal point around which other resources are allocated and
used
(1) Money (2) Time
(3) Skili (4) Energy

fFrfafan w = fomg R foas e ¥ o oAl & e Wi 2

gq

e

(1)
(3)

(2)
(4)

32
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104.The initiator of message in communication process is :

{1) Sender (2) Receiver
(3} Format (4) Message
aR fir ¥ Ry # W #

(1) 9% (2) <l
(3) &Y (4) W

105.Which among following is a material resource :

(1) Skill (2} Intelligence
(3) Creativity (4) Car

i ¥ A 3w g @eE R

(1) Fra (2) gfemr

(3) THAHSRAT (4) R

10P/244/2

106. Line drawing in scale showing a picture of the side of house is called:

(1) Blue print (2) Perspective projection

(3) Elevation (4!-) Isometric projection

TF Y T W H WATAR @ o e

(1) s fi= (2) TEfFd AR

(3) WeloEE (4) MOHEF TAFH
107.Best location of kitchen in a house is :

(1) East (2) West

(3) North (4) South
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R N frae ! watgn fefa 2
(1) o (2) ufEm
(3) IW (4) <fegor

108, Highest amount of presure can be borne bu :

(1) Sandy clay (2) hard clay

(3) Rock clay (4} Red soil

frafafean weifas o we3 § 94m §

(1) wgen g (2) *g

(3) uielt figh (4) o
109.Light and dark strpes on a zebra rug tend to creat :

(1) Harmony (2) Rhythm

(3) Confusion (4) Excitement

TF S HTA W Behl o ! il SAR S @

(1) a9 (2) <4

(3) ¥H (4) SR

110. Proportion is often referred as :

(1) Scale {2} Volume

(3) Perspective (4) None the above
S I FZE FE

(1) wha (2) agH

(3) WERF (4) SUF H | IR T
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111. The surface structure of a material is known as :

(1) Pattern (2)
(3) Design (4)
foredt g # Wag TTEA FEA §

(1) (2)
(3) fesmem (4)

112. Which colour has natural hue :

(1) Red — orange (2)
(3) Steel — grey (4}
Prafrfaa A fra A =Ee g 2 :

(1) ¥ — -t 2)
3) ®WH — 13 4)

113.Blue geen is a :

(1) Stimulating colour (2)
(3) Dominating colour (4)
Hren — g R

(1) ‘ZT(E e 2)
(8) A LM (4)

Texture

Textile

M3

TFERA

Yellow — green

Red

el — &
A

Advancing colour

Receding colour

ST
g 3

114.1t is type of heat resistant glass used for surface cooking :

(1) Borosilicate (2)

(3) Alumina silicate (4)

35
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I UF TN F §AE N 9GH ade w9 ?
(1) aRfafeese (2) el TEH T
(3) Terfr fafase (4) AT T
115.To prevent darkening, copper finished utensils are coated with :
(1) Lacquer (2) Shillae
(3) Stain (4} Varnish
At ek wdd B TRY A A UFA & I I W PR FW €
(1) R (2) RS
(3) ®A (4) @@
116.Egg beateris a :
(1) Appliances (2) Utensil
(3) Tool (4) Pot
T HR B UF
(1) T=ER 2) A
(3) == (4) UM

117.The Trade name of titanium type steel used to manufacture house-
hold equipment is :

(1) Hard steel (2) Soft steel

(3) Ti Namel (4) Eco-namel

e SYEU I B TG T F e WA IS W E
(1} TE W= (2) TR e

(3) <E A (4) TR WA
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118.The process of coating a base metal with zinc to protect it against
rusting is called :

(1) Galvanizing (2) Varnishing
(3) Polishing (4) None of the above

& YR 91g 1 ST Q@ 99 37 1 TR T F BT B AR FEaw
2:

(1) deagim (2) enfifm

(3) ety 4) 39YE W A B A=
119. The unit of measuring ¢lectric resistance is :

(1} Ampere (2) Ohm

(3) Volt (4) Walt

forega afady Arm ) s 2

(1) THERR 2) i

(3) e (4) e

120.The complete path through which the current travels form one termi-

nal of the genetator to other is known as :

(1) Open circuit (2) Closed circuit

(3} Short circuit (4) Ground circuit

SR F TH e ¥ o1 filvet o faga Yo w1 W 99 FeArd ¢
(1) 3T didhe (2) A Gfehe

(3) e wfhe (4) TS Wike
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121. Fuller's earth is a :

(1) Grease solvent (2} Grease absorbent
(3) Detergent (4} Polishing material
‘G 1 § A
(1) < faems (2) W STERTH
(3) feewsle (4) T o
122.Many of the derergent powders contain polyphosphated which acts
as:
(1) Water softeners (2) Water hardners
(3) Emulsifiers (4) Bleaching agents
ogd @ feeteiz wSel ¥ aeht Highe 214 € I F1 # we e w8
(1) T YRR (2) 9 FEWN
(3) FHTHIHI (4) =AET e
123.0ne of the tools is the management of time is :
(1} Work units (2) Workcurves
(3) Time norms (4) Time plans
T Yo U T A ©
(1) = el (2) ¥ Tk
@) wwa T (4) GHI AN

124, Basic component of work place are :
(1) Work surface, storage and appliance
{2) Work place, work surface and appliance
(3) Work surface, work place and worker
{4) Worker and work place
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FM W % R 2199 ¢

(1) FH ¥\, YUSR T& STHWI
(2) w1 A, BE GAE TS YR
(3) S TAE, I ™A @ HdGdl
(4) Friwdl @ % wd

125.Which of the following is the function of communication :

(1} Information (2} Instruction
(3) Persuasion (4) All of the above
frfefan & o9 R 1 @ P9 € -
(1) o (2) IRV
(3) reEmEA (4) SwE 9
126. Which of the following is a tool of PRA :
(1} Time list {2) Transactwalk
(3) Venn diagram {4) All of the above
frefefaa § & & fodTRoTo 1 TH HeH ©
(1) w99 g (2) TSR TH
(3) 7 B (4) SUgE wdl

127. Which if the following is an example of individual approach :
(1) Group meeting (2) Lecture

(3) Workshop (4} Fair
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frefafes ¥ N T = o |

(1) 9ngfesw am (2) 9

(3) U (4) wal
128.The term extension is of :

(1} Greek origin {2) latin origin

(3) French origin {(4) German origin

Wﬂﬁ?ﬂ E §

(1) TF ga = 2) HfE W

(3) 9 ¥ F (4) SHEI gA H
129.The frist K. V. K. established in 1974 at :

(1} Pondichery (2} Sriniketan

(3} Birsa (4} Culcutta

1974 B 9| So Fo Ho HI wreT T o

(1) uife=d o (2) #ifra §

(3) famm o (4) FEEdH

130. Which of the following is an example of symobolixed visual aids?

{1} Poster (2} Slide
(3) Radio (4) None of the above
Prafafiaa § § 91 W WAHETR 5v4 WY 51 T IR | 2
(1) R (2) wmEE
(3) e (4) IwEw B | R T8
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131. Which of the following type of projection is used in slide projecter :

{1} Indirect projection (2} Reflected projection

(3} Direct projection (4} None of the above

TeEe St # Prefafaa ¥ 8 fey s 1 SSeeH NI e R

(1) STSERFE SeawH (2) o ToeH

(3) TR FERH (4) I9Y® H ¥ HE T
132.Following is an audio-visual aid : |

(1} Television (2} Chart

(3) Radio (4} Overhead projector

et & 957 o oA ©

(1) <efifgem (2) =

(3) e (4) SR T8 ey

133.In a normal adult the heartbeat rate per minute is :

TR 9%k IS W Wi e Tea v i ot €
(1) 72-80 (2) 70-75
(3) 80-97 (4) 82-87

134.Which one of the following is considered to be an easily digestible
protein source :

(1) Egg albumin (2) Soybean

(3) Fish (4) Red meat

frefafias § @ 69 5 9 orerl Q v= 9 987 — g 99 9 @
(1) 910 F TAHH (2) WEEE

(3) "B (4) TS WY
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135.The specific odour of garlic is due to presence of :
(1} Chlorine containing compounds
(2} Fluonne containing compounds
{3) Nitrogen containing compounds

(4) Sulphur containing compounds

g W faRe Ty Frefias 9 Suftfy & o e @
(1) = g W (2) TIEHGTIE A
(3) eI AT (4) wEHEEE AT

136.The pH of pure water is :

Y& 5§l T do THo TH B T
(1) 1 2) 6
(3) 7 (4) 10

137.The transition period from infancy to childhood is known as :

(1} Early infancy {2) Early childhood

(3} Childhood {4) Early adolescence

v § TeTEE F IR He FEAl €

(1) Wit dvE (2) wRfiwe FreTEe

(3) STEHrERe (4) VR feavirere
138.The stage of child from birth to four weeks is :

(1) Neonatal (2) Prenatal

{3) Infancy (4) None of the above

T A T Y IR G TF F SN FFAA §

(1) frarmes 2) frea

(3) (4) I0F A A T T
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139.Development proceeding from near to far is called :

(1) Cephalocodal (2} Longitudinal
(3) Horizontal (4} Proximodistal
TEE Y T H AR BN e Faerr wear @
(1) fabeetea (2) arfiefETs
(3) BHI=d (4) WEfEEd
140. A progressive series of orderly, coherent changes leading toward ma-
turity is :
(1} Growth (2} Physical growth
(3) Development (4) None of the above

yfrgaE F AR T S4 Aol Jaieq 9 gEua e B TF FH @
FHeml B

(1) s (2) W 9

(3) fora (4) SUgwH B W BE A
141. The tubular structure on each side of uterus is called :

(1) Ovary (2) Fallopian tube

{3) Ovary tube (4) None of the above

T F THI SR RSN SO HEerl €

(1) HATSRH (2) Fenftra Zgd

(3) 3WERE TS (4) SWF W Q@ FE T
142.Following is an inxstrumental value :

(1) Art gallery (2) View of sun set

(3) Production of fan (4) None of the above
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frefafad T ST 4o ©
(1) hon St (2)
(3) Y@ H IARA (4)

143.Following is a tool of management :

(1) Hierarchy (2)

(3) Payment of remuneration (4)

frafafad ¥y 1 Th @eF @ ¢

(1) SR 2)

(3) TR =1 T (4)
144, World Diabetes Day falls on :

(1) 15%" March (2)

(3) 24 Decenber (4)

fae qydz feaw e s 2

(1) 15 HrE @l (2)

(3) 24 fogm = (4)

145. Work simplifiction means :
{1} A change in work habits
(2) The use of labour saving devices
(3} Organizing functional work space
(4) Developing skill in work activity

14 TewE @ el ©
(1) FE F €A H T (2)
(3) THANA HEEE H ESH  (4)
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I SR
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146.The use of money for the purpose of making of making more money
is

(1) Compulsory saving {2) Investment
(3) Financial management (4) Saving

o7 1 31k WA Bg AN €

(1) &S S=d (2) fafazm

(3) forfta 3=y (4) @A

147.Means through which individual can become part owner of the com-

panies :

(1) Stock and Shares (2) Bonds

{3) Promissory note {(4) Insurance policy

fraffaa & 9w oafe w0 =1 A w9 § mids 59 9% ¢

(1) =iF 9 IR FA (2) e &N

(3) W e R (4) IvERE Wi BRI
148.An agency of India engaged in periodic diet and nutrition surveys is :

(1} ICAR (2) NNMB

(3} WHO (4) FAO

YRa B TII-YUH W SRR T 907 F7 GFI0 I A weA ¢

(1) eModloTodo (2) ToTHoTHodlo

(3) TRYoTHo3o (4) ThoToddlo

149.CFTRl is situated at :
(1) Bangalore (2) New Delhi
(3) Hyderabad (4) Mysore
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ﬁowoaomoé‘m{o feara % :
(1) e d (2) % feeeh A
(3) 2EuEg A (4) TR A

150.The formula for calculating BMI is :
(1) Weight/height (2) Weight (Kg)/height(m)?
(3) Height/weight? (4) Height/weight
HHouHoMEe Hi UM 3G I €
(1) YR/ = (2) SR (fFo¥o) / w¥E (Hio)?
(3) =T / W2 (4) =R/ 9R
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ROUGH WORK
T &E
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10.

11.

12.
13.
14.

areaforal & T fdm

(3@ gfiaT & Qg% @0 T8 U7 7497 307-97 & g9 gl av
FaeT Fieh-wreh! arer-@Ez 97 @ § o@)

av I e & 10 fe & o € S o % Tee § i e g § o e
T99 21 761 &1 YR QO U S T 3Heh! Yol Teshret Far-TTe i ot Fegu
Y # ge{ IR o &L )
TN YR W forwreT ed Raw-uF & afafiaa, foran a1 @il & Ff gen & 91y
7 T o
-4 Hor B e w1 59 7 @ 713 S 7 81 (3ea $11 gue 3uT-uF 787 f2qr admi
HaeT IAT-TT BT 1 JoATHT 1hAT ST
SO ITRHIF a9 IW-T &1 FAIS 90 EE-78 | 97 ¥ f4ifa @F « €|
JU-99 & FUF L 9T G4 B 39 AqwHE (HaiRa T 9T for@ aegr 9 169 g9 &1
mer &Y 31 Tel-el JravyE g aEl yvT-YiasT &1 wmEiE agr 9 & TE 36T @
oY i
Sto THo HMo U UY SIJeAIF WEw], YyAqfiassT Woar 7 9T Wear (I3 FF &) aqr
WoIgRadT 4T AgEIE HIT Ao THo AMo UT W &1 WAEA ¥ IuReET &1 wgufy
T
g FarEa ¥ i A witadT wa (i 5 9 g 9ned 39T 9 UF Igfad
|rET FT FET AT AEAT
y97-gfedet 4 grid 997 & w7 d&To4® 307 133 74 §1 GE §9 & daiodd I & 1Y
ATIFT FY- 0T H GG 9fFT F G 173 7F g &1 I9V-u7 & ¥gW g ¥ ed W
feon @& srgarT 47 & wer w &l
YeI® AT & I & 7 el U € 99 & T K T ¥ AfYs ga = omel F
W Al TF g9 F HYO 9 T g IaT TEC AA SR
&9 3 1 U qY @G R Jifea IuT aqew 981 9 GHAT 81 e 09 166t 7y & IV
7g1 971 =ngd g, Al Wark uiew & arvA 133 78 @t gt @t @rofl 9ig @1 UR gy W g
J& 38 sma
T & T Twn-fEm % Eys % ofel aen Us ag1 Su-Yadw & 3 78
AT
el & SUU g97- gfed@! oF Jav-g7 GO 999 § S &K 4
TG FAE §H | T8 Wi Wad ¥ &l S # ST Aa gl
afe g gl wlen # srfad W & s S 8, 9 9% favafame g feiia
T FUS, U BB
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